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Expanding Brackets Corbettmotths
using Pascal’'s Triangle
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Ensure you have: Pencil or pen
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Guidance

1. Read each question carefully before you begin answering it.

2. Check your answers seem right.
3. Always show your workings
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Revision for this topic
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1. Use Pascal’s triangle to expand (x + y)*
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2. Use Pascal’s triangle to expand (x + y)°
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3. Use Pascal’s triangle to expand (x + 1)

ok aat)0) v ) F T

4. Use Pascal’s triangle to expand (2 + y)*
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5. Use Pascal’s triangle to expand (1 + w)®
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6. Use Pascal’s triangle to expand (3 + y)°
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7. Use Pascal’s triangle to expand (x — y)*
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8. Use Pascal’s triangle to expand (x — 2)°
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9. Use Pascal’s triangle to expand (2x + 1)°
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10.  Use Pascal’s triangle to expand (5x + 3)*
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11.  Use Pascal’s triangle to expand (3x — 2)°
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12.  Use Pascal’s triangle to expand (10 — 3x)*
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13.  Use Pascal's Triangle to work out the coefficient of x> in the expansion of

(1 4+ 5x)* fx
[')u t 4[!)3/51) LE(1) (i) 4 4//)/41)’ 1 /5’1)"
%015

-

14.  Use Pascal's Triangle to work out the coefficient of x> in the expansion of
(2 + 3x)°
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15. Use Pascal's Triangle to work out the coefficient of x* inthe expansion of

2-x°
4 2 aF
2) fg[ / +/9/1)/—1) . ’LO/z) K%_) T/" /1) .-
jo1”
o
............... (3;)'
16 Usé Péscrzalr'sﬂ'l'riaﬁgléto ;/vorkrcr)u.t;h.e c;bé%iciéht c;f x2 in the éxpéﬁsi&n o; -
x -7y
. " : L33
ﬁx)jff[zl)l'/w;)l#IO/'L)[)B[’Z) 1o /’1,)()2/‘“7‘] ¥
~127202
_ |3AA0
......................... (3)

© Corbettmaths 2019




17.  The coefficient of the x> term in the expansion of (x + a)4 is 256

Work out the value of a
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18.  The coefficient of the x* term in the expansion of (a + 2x)° is 400

Work out the value of a
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19.  The coefficient of the x> term in the expansion of (2x + @)’ is —1080

Work out the value of a
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20. The coefficient of the x2 term in the expansion of (x + a)6 is 240

Find the possible values of a
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21. The coefficient of the x> term in the expansion of (2x + a)° is 3920

Find the possible values of a
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